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Vapour pressure of water in mmHg at 20 °C is. dq_lmu“ mmHg }.44.;5’(}&4 20 C 1
,, 355.1 (D) 149.4 (C) 175 (B) 55.3/(A

Which one of the foll ing is amorphous solid? . ' ‘1'44//‘}%».‘. foee| 2
Plastic J!& (D) \Glucose #¥ (C) Diamond Lz (B) Sadmm Chlonde :‘fﬁr(ﬁ\)

' _+BMé'4JLLUﬁ?‘ ‘/u"}" 100g d’ ém® fody /i 3

If the solute in cm® is dissolvedNn 1009 of the solution, the pe (age |s
% "I, (D) % ‘I (C“ E__‘m% 1/ (B) %", (A)

G UAAIA: \bea Y e tiditn | 4

Whlch one of the following is oxidation nuxpber of nitrogen i 05377 4
+4 (D)/Q~7 *3C) +6(B) +5 W

- Which one of the following is galvanizing process ? \«:;m ¢ QUer Lo, aUidits| 5
Electroplating u@u}"! (D) Zinc coating NN (C -\C yifg £11(B) Tin coating JIJ ()] (
) P celis T UheF Hpigitb P k| 8 = 4
Non metals are generally soft, but which one of th ':""" @' is extremely hard ?
Diamond 478 (D)  Graphite /(23 \‘3 ine wﬂ @ N@losphomsw/ﬁ(A) .

Identify among the followmgs as heteroatomic rf t& ie: - Lty e idstn | 7
o,/n) Sa()g - 2L (B) H,0, (A)

How many number of moles are equivalen . amg of CO, ? -...\ ATzi)’:‘ZLJI ;—lf 8&002 8
| 62D 01@“« %021 (B 045 (W]
The number of sub shells in N She is. Q R ﬁ%kl‘m_ _ ,4.,_1,.16;£’~,ij 9
Two » (D) @ e © Four Jk B) One Li(A)
General electronic configuratigh of al (2 n‘?"‘w: metals is. -44‘}- LA 8 #2008 | 10 7
' o: (0] ns’ np\(B) ns' (A" j

o r .‘?{' : y,,LulierLLMbp;al & 'Jr‘";;"v.,ﬁ“ 1

with an electropositive element, the type, of bonding is.

When an electronegatj¥e element 'u*\; 35

Dovalent w47 (B) lapict T - (A)
Coordinate ® e fetlf @ Polar covalent J¢s#/y (C)
D) 94,%1;.,&1.%51{};( Vieddstn | 12
Which one 6f the followin ds has coordinate covalent bond ? |
G;}v Ag’(D) - NH;(C)  NH; (B) CH,
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(nNo.2: Wile short enseers 1o ehiy tive of the folloving. 5y2=90 ~EL g LSS S AL el LS 2 Yo
= * =3

i’ e i . x - 25 X =3 £ % 4 {
| Whetare shemicsl properifes 9 Glve an exemiple. s st e Gslplf ol | !
| Write down the chemicsl formula of washing soda and Oulck Lime. Jé{/? ﬁ!‘zﬁ(}kr @‘Kﬁ;,‘é}@vfrﬁmﬁig R
| Diffarentiate batween moleculer mass and formula mass. ,églgé}uﬁgf Wb strled B | i

,g)ﬁnﬁiy‘i;ﬂfuggﬁ 4 é{ Vi (;Zﬂ &;ﬂ@%@ f

Wiite the electronic configuration of sn element having 11 electrons,

What are the two ldefects of Rutherford’s atomic model 7 UL tfi End S Ll s, v
Define electron affifify and Ifs trend In periods. E s Ut 4 g S b | v

760 Kovel S 8 @t G s | i

What is first ionization en Y and write first ionization energy of sodium.
What is Dobereiriers’s Triadd.? : S RLH QL S | il
Q.No.3: Write shorf answers to\&py five of the followings. 5x2=10 .é{/’ I-"J“Z/ Lmékcdidiéé 3 AUy

He, CHy , Gy, Ny g b At bt g |
nt bond is in the following moleculg/ Hz , CH, , C,H, , N,

EHSE s onpprc sty £ay|
Eerbsly St I Hel Zyild)By | i

.é;/&q.éwvd’ﬁzéqﬂdwwﬂu iv
Ly Bk | v
Eds g b3t | Vi

Please point out that what type of cov.
What do you mean by bonding electrons?

-| Define intermolecular forces. Show any two fo
Define bolling point and also write boiling point of
Define term allotropy. Give an example. _
Convert 37 °C to forenheit scale temperature.
Write chemical reaction of sodium with oxygen. ,ég/@-(td,‘f.’-( ;b[,‘.ﬁ' fyﬂj,a vii
Write down two uses of calcium, _é{;gﬂ}pl”ér’# vili
Q.No.4: Write short answers to any five of the MIans. 5x2=1b\ _ég Feliz lelék.uldilw 440y
What is the dilution of solution 7 - LA
What is the % ™/ 1ume ? e plre %Yy, |

Why ether, benzene and petroi are insolyble in water 7 N3 AP u![jw; AL A | i
Differentiate between solute and solve t. ' /0SS sty | iy
Define reduction reaction. ' 4 ,é..g,-"' G 1578 | v
Which are weak electrolytes 7 ¢ L!Lx(.e)/f b;é'm/ vi
How Is electroplating of tin on stgel carried out ? * i L, Y AR
-What Is oxidizing agent ? * LI aeT | il

- q/ (Part Il) pss.0r |
. NOTE: Attempt any two questions from this part.. 9x2=18 _é/g.-,uxé.-,m ,L(Sf{.U:JU'I w2
| - 243 _EYEBLL AL NS LN W54y
Describe Rutherford’s/atomic model and resuits of his experiment. .
Write any four propérties of a compound. 1414141 ,édka?/’ J}éf(ﬂi‘f INB)
‘ 2+3 _éc.wU;J)Mﬂ&&dk»&ﬁ!c&’uﬁﬂ!ﬂéq}dﬁﬂ M”
Define chemical bond. Explain the formation of lonic bond between sodium and chlorine atoms. '

242 T 4.5-;:1;:}14’ MMML Yqirlie 2igs | (B)
-What Is ur pressure ? How Is It affected by the size of the molecule ? :

; ' 1+4 _ .évb;&}’ L4 Jﬁld{}‘:)’u&ﬂ d/é’ 32 | W7 AUy
Defing electrolysis and explain the electrolysis of water. ,
Conjpare the physical properties of metals and non metals. 1X4 .é.-«]lﬂ(ﬂi&} LA e #

17 (Sub) -12022 - 60000




=i

TP
{55 &880 )

, $5 oo e
o B e e 6 : S
2= 4 ¢ - D‘, L za- brss s :ﬁzf/

& 14 L.yJiéwéﬁf@}jMﬁf&wﬁévUL()g! /;/4,(;&’ {7 (K @@;Eu(!&i B,C eﬁ,/iffiﬂ z%&d&; g ey
258 W dguf s wﬁéwfzf;ﬁga/ﬁwmaj Espel | Shfiib3 Gl

/»4@

An example of heterogeneous mixture is.

Which one of the following is strong electrolyte? {“q;..../tu ;{F’fﬁ*(w/ el
Benzene ¢/ ;% (B) Sugar sqiutscn SIS E (R
Solfftign of NaOH ¢/#¥NaOH (D) Solution of Ca(OH), ¢ #¥Ca(oH), (C)

Sponianeous chemical reactions take place in. MLI:&J ;%MJ < LbLﬂﬁb:fA 2
Galvanic celi (£ f] ;'z( (B) * Electrolytig cell dfﬂ:}-al w
Down'’s cell (£33 (D) ~ - /Nelson cell dfdy ©

Which one of the following non metal is lustrous ? !% e Aﬂ J“ ubu" fc,utd’.sb» 3

~ Hydrogen ¢fuk| (D)  Suiphur ~(C) Phospherus J2#6 (B) lodine cL3¢T (A)
Number of moles are present in 6 grams o water. s f _4_:1;!(5):'058&(“ 6| 4
Jr 0.35 mole (D)Jr0.32 moleXC) Jr %ﬁ’ﬁle (B) dr 0.33 mole (A)
: '4_ d"' ._f d / Lfv-'ﬂ 5
lodine ¢4ff O)  Gasoline’ ¢£y? a)" Rock ol B)  Air lor (A)
Plum pudding model was put forward by. - ¥ cadfbu;4(& é
Bohr 14 (D) Ruther Ford 4 (C) 7‘Thdfon ¢'? B). - Daton cP4(A)
Mendeleev’s periodic table was based upon. /X575 »(.? k*(sd’: S Lz | 7
Atomic Number /Gl (g """‘»i‘:::,n ; .Ele hnic mnﬁgmahon ﬁﬂJ £ W
Completion of Sub Shell bﬂd" VU?V Bl Alpmlc Mass (Ll (C)
Which one is a good example-of Triple G4 !w : k,zu’ fdb&ldﬁ@fd} 8

H, (8) Cl, (W)
Octet rule is. o, L e o8
3 fD\escriptIon of Eight eleckon wolasden 2131 (A
Pléyrb of electronic configuratiok ;f’ S ﬂJ 1% (B)
;F%ﬁem of electronic configuration\ etk 2 LI 140
j ?“:“ " . Attaining of eight electron \ Jr ¥ 24137 (D)
Denslty of Gold is. ‘:W | | 4-(3" “Blr| 10
. 4,88 giem’ (I:Qc» 73 glom’ (C) 7.86g/cm’ (B) 270g/em® (A)
One of the following is crystal(r%@q ? ¢ ey AP Mt | 1
Glass % (D) Rubber % (C) Plastic £4 (B) Diamond\ (g (A)
.\‘c\ =Y Al }w,e,f;,m/ Ve | 2
Which cg pound show effect of temperature on Its solubliity ? 3

“/NaCI (D)  NaNO; (O) KNO; B) KCI (A
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CNo.2 Wille shoti ansvers o any five of the folloving. Si2=io &5, i P L 4z bt 2 d
- Give the scope of blochemistry. .é(j&gv;’ 6 CEl| i
Define valency and what is the valency of carbon 7 ¢ 4’.@&6}&1{5@;&” SELY fﬂﬁ(j’% it
Differentlate afomic number and mess number. | ..écig(j U A eat L8 | i
Define isotopes. How many isofopes of Hydrogen 7 S UAIANTL R il ey AN | v
How are isotopes used ¥ power generation ? s kL AIAT ek zal | v
Describe the trend of el negativity in periods and groups. .édkdlhl’ ;E ) }:-'qu#cﬁ:/ul iba | vi

Describe the trend of shielding effects in groups and periods. éugw
Define modem: periodic table.

LB E Bt pils] | i
L&y EFE b g | vit

Q.No.3: Write short answers to any five of the followings. 5x2=10 2,74z Z Lzl Plstn 3, 0ir

ity SrudRl i ELE |
What s the difference between ione paixand bond pair of eiectrons ? ¢ ¢l Lf-ﬁﬁ[w!j&d)&h YN
\ g 4-:!,?4.;/;.5)1.9 LA i
et oAb |
| X1 Py 7 T A N
ure?  fobaud ,f,l.:'l.vl'u.‘.f <A 2 i

¢ 4.3:101 uLic—&(f}lw?-ﬁﬂ ¢, /;,(5(?? vii

What do you mean by Intermolecular fo
What is the difference between solid and
| Define standard Atmospheric Pressure

Why does volume of a gas decrease with the in

Why the 2" lonization energy of Magnesium is higher thak the 1* one ?
Why copper is used for making electrical wires ?

¢ P WP IV T LIkt kB | vil

Q.No.4: Write short answers to any five of the fllowings.  5x2=10 &, /=l LitiGle Lt st Ay

Write two examples of a liquid-solid solution/ . ﬁxﬂh’d‘-ﬂ’u’;ﬁ_db i
Give two examples of gas-liquid solution. Z :Lﬂbmd(;}’dqu.’ ii
Define concentrated solution. Give an example Z :db-_{l.éq Al }’Iﬁ;’/f iii

Define suspension and give an exa
Wirite effect of Al,O; on corrosion
Write effect of Fe,O; on corrosigh of iron.
What is the difference be

aluminium.

- Define oxidation in terms 6f electrons and also give an example.

ZE oLy 8 | v

valency and oxidation state ? 1PNl § 1T U-’-&é’(ﬁi;ﬁ Ao‘u": vil
oLy O e Lir L s 2 | vill

(Part 1) 1.0

. NOTE: Attempt any b{ questions from this part.  9x2=18 .é{f.:«bméamn: Ve sl 2

Write down any ﬁv:(mamcueﬂsues of canal rays,  1X5=5 E pSIL Lt

Compare moleclar lon with a molecule. 1X4=4 Zoara L L) fL

(8)

5/du~

24325 £ cylberbsl OISy Fi et
Define ent bond and explain its types with examples.
What Is Béyle’s Law? Derive Its mathematical formula. 2+2 & 318y AL el ol « I8 LS 1

w

(8)

84/ Uiy

1+4=5 * . .é;}‘d;g/_‘ﬁﬁ L AP e pl st P
What Is oxidation state’? Write four rules for assigning oxidation number.

1X4=4 NG HO0 O _éd;éfau,‘!!fmf ds4,,;ok(”*-’? HEdy

Write chemical reactions of sodium and magnesium with the following. () H,0 (D N
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